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Exercise 1

Calculate the following subtractions :

7861 - 620 =

4977 - 520 =

1388 - 235 =

7899 - 105 =

1589 - 210 =

9658 - 157 =

2756 - 222 =

4857 - 215 =

5726 - 611 =

1375 - 233 =

1395 - 141 =

6457 - 425 =

Exercise 2

Calculate the following subtractions :

1932 - 112 =

1738 - 422 =

7896 - 502 =

7655 - 640 =

4279 - 253 =

3652 - 550 =

5997 - 132 =

8668 - 613 =

3318 - 100 =

1642 - 302 =

4585 - 215 =

1962 - 821 =

Exercise 3

Calculate the following subtractions :

1748 - 425 =

3939 - 601 =

2828 - 715 =

7993 - 442 =

7650 - 330 =

5899 - 781 =

7200 - 200 =

9936 - 620 =

9881 - 200 =

6867 - 847 =

7984 - 164 =

1695 - 252 =

Exercise 4

Calculate the following subtractions :

2855 - 754 =

8803 - 802 =

6869 - 768 =

6669 - 108 =

7629 - 228 =

9275 - 112 =

3787 - 647 =

2763 - 260 =

2615 - 512 =

9879 - 826 =

7542 - 432 =

7928 - 907 =
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